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7 100kN/mZz#8z25| 1.00 | 000 ~ 055 10811 |3mZEHBZD -~ - - -| 100kN/mMi%E8Z2 2| 1.00 | 1053 ~ 1206 10811 |3mEEZ3 -~ - -
zhs 1.00 | 055 ~ 833 100.00 | £hs 000 ~ 833|219 11.71 zhst 1.00 | 500 ~ 1053 100.00 | Fhs | 500 ~ 1206 2.19 11.71
2 100kN/mZE#BZ5 | 1.00 000 ~ 078| 111.63 |3m&EEZ5 -~ - - -| 100kN/mMi%E8Z2 2| 1.00 | 1060 ~ 1283 [111.63 |3mEEZ3 -~
zhs 1.001078 ~ 856 100.00| Ths | 000 ~ 856|225 12.02 zhst 1.00 | 500 ~ 1060 100.00 | FhLS | 500 ~ 1283 2.25 12.02
3 100kN/m%E8Z5 | 1.00 | 000 ~ 061 109.00 |3mEBZS -~ - - -| 100kN/mMi%EEZ22 | 1.00 | 1064 ~ 1233 109.00 |3mEEZ 3 -~
zhs 1.00 | 061 ~ 839 100.00 | Fhs | 000 ~ 839|226 12.11 zhst 1.00 | 500 ~ 1064 100.00 | Fhs | 500 ~ 1233 226 1211
4 100kN/ M%E#B 2% - -~ - -[3mEEZS -~ - - -| 100kN/ Mm% 2% - -~ - -[3mERBZS -~
zh st 1.00 | 000 ~ 574 71.72 | Fhs | 0oo ~ 574 209 11.17 zhst 1.00 | 5.00 ~ 8.00 71.72 | #hs | 5.00 ~ 800 | 2.09 11.17
5 100kN/ M%E#B 2% - -~ - -[3mEEZS -~ - - -| 100kN/Mi%E# 2% - -~ - -[3mERBZS -~
zh st 1.00 1 000 ~ 538 67.09 | RS | 000 ~ 538|211 11.98 zhst 1.00 | 5.00 ~ 7.60 67.09 | Thds | 500 ~ 750 | 211 11.28
5 100kN/ M%E#B 2% - -~ - -[3mEEZS -~ - - -| 100kN/Mi%E#8 2% - -~ - -[3mERBZS -~
zh st 1.00 | 000 ~ 479 59.71 | NS | 000 ~ 479|212 11.33 zhst 1.00 | 5.00 ~ 6.60 59.71 | ThS | 500 ~ 650 | 212 11.33
- 100kN/ M%E#B 2% - -~ - -[3mEEZS -~ - - -| 100kN/Mi%# 2% - -~ - -[3mERBZS -~
zh st 1.00 | 000 ~ 477 59.46 | Fn4s | 0oo ~ 000 1.70 911 zhst 1.00 | .00 ~ 5.00 59.46 | ThS | 500 ~ 5.00 | 1.70 911
100kN/ M%E#B 2% ~ 3ImEBRD ~ 100kN/mMZE#BZ % ~ ImEBAS ~
Zhust ~ Zhust ~ Zhust ~ Zhust ~
100kN/ M%E#B 2% ~ 3ImEBRD ~ 100kN/mMZE#BZ % ~ ImEBAS ~
Zhust ~ Zhust ~ Zhust ~ Zhust ~
100kN/ M%E#B 2% ~ 3ImEBRD ~ 100kN/mMZE#BZ % ~ ImEBAS ~
Zhust ~ Zhust ~ Zhust ~ Zhust ~
100kN/ M%E#B 2% ~ 3ImEBRD ~ 100kN/mMZE#BZ % ~ ImEBAS ~
Zhust ~ Zhust ~ Zhust ~ Zhust ~
100kN/ M%E#B 2% ~ 3ImEBRD ~ 100kN/mMZE#BZ % ~ ImEBAS ~
Zhust ~ Zhust ~ Zhust ~ Zhust ~
100kN/M%E#B 2% ~ 3ImEBRD ~ 100kN/mMZE#BZ % ~ ImEBAS ~
Zhust ~ Zhust ~ Zhust ~ Zhust ~
100kN/M%E#B 2% ~ 3ImEBRD ~ 100kN/mMZE#BZ % ~ ImEEBAD ~
Zhust ~ Zhust ~ Zhust ~ Zhust ~
100kN/ M%E#B 2% ~ 3ImEBRD ~ 100kN/mMZE#BZ % ~ ImEEBAD ~
Zh st ~ Zh st ~ Zh st ~ Zh st ~
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